ERGEHpPWEAERERERAERD

ﬁéﬂi‘—%fﬁ%ﬁiiﬁli e B FPEEH 5 113007161
7 = 3, ¥ g (HE )

1. #* %BE:5C~40C 1018
2. wmk:zon 110V £ 11V
3. ii%]/\ﬂf?":é?OW
4 BRI
a. ki~ v B R 115C~25C
b.# kT = 2C
5. %:J %k & :1~12ml/min
6. 2 5% ¥ :5600g+5%

(AE 72 Bxig * pF o> G-p AR 4 i)

I~ %3223 8B L HAP R NER RS o
S
2R P A AN # ! popoe

[]& 584 s2p (AP )i PR o[ a3z kp 4 P oo
3 EHYPL I P KR LRI PAFR L £ o

AARBN F B RFAHREE F 2663 R
=

Xfilﬂ‘&ﬂt % 260% -
W PHE D2 Ep 0 2B iR R S E TR FREEE S R RIRE o RS R
PMOTERE T SR 2 R H TR 2 SRR R AR B H e B 2 B
BE s A BTN ABAE D EER A 0 P ehE k397 @ARL -

FHRCEIFRRERIPFRLFHRAPFE B RPN YN PFIRRS A ESERY o R AR
ZANEPRFRIR A AR R AP R TARRE ) FHE 2 A




